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Industrial Revolution Powerpoint Guided Notes 

	Why did the IR begin in Britain? 
	1. ___________________________________________________________________________
2. Extensive natural resources including _____________________________________________ 
3. ______________________________________ to invest in the manufacture of new inventions 
4. Highly developed banking system allowed people to take out business loans 
5. ___________________________________________________________________________
6. Britain’s political stability allowed people to invest in new ideas 

	Textile Industry 
	· Textile = ____________________________________________________________________
· [bookmark: _GoBack] New inventions such as the ____________________________________________________ ___________________________________________________________________________
· Some machines used _____________________________________________ and production 

	Why is cotton gin important? 
	· Invented by _______________________________________ in 1794 
· Cotton gin = _________________________________________________________________

	Improvements in Transportation 
	· Steam engine created by ________________________________ because other industries were looking for a ___________________________________________________ 
· ______________________________________________ led to the creation of canal system
· Canals allowed ______________________________ to factories in other parts of the country  

	Railway Transportation 
	· Railroads had four major impacts: 
1. Cheap way to ____________________________________ and finished products 
2. Created ______________________________________________ building railroads 
3. _________________________________ of agricultural and fishing industries because goods could be sent to distant cities
4. Railroads encouraged people to live in the countryside _______________________________________________________________

	IR Spreads 
	· Some mill workers emigrated to other parts of the world ______________________________
· They took with them ________________________________________________ from Britain 
· ___________________________________________________________________________ __________________________________________________ determined the degree to which countries industrialized 

	Impact of Industrialization 
	· The need for ________________________________ for manufacturing led to increase in imperialism (________________________________________________________________)
· Colonies were again used as a _____________________________________ and a market to sell _______________________________________________ 
·  Industrialization __________________________________________________ and other industrialized countries 



